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3=y | M11OLDOHD X HIT M11D oMk
41 =3 | HoxHH (np.abs) =B ot (np.abs) , =A%
50 X—< | From contrl.matlab import * from control.matlab import *
51 R— | £2.4: serial series
. 0 (t<O0 0 (<10
48 X— | u(t) = ( ) u(t) =
1 (t>0) 1 (t>10)
64 XN— /ydt /y(f,)dt
[ [ [ ] [
72— | (3.35) XD A D (n,n) HWH
Ap—1 —0n—1
97 R—3 | Simpy ZHWTKD % Sympy ZHWTRD 3
. 1 1
97 XR— | lim sP(s)u(s) = lim sP(s)— = P(0) lim sP(s)u(s) = lim sP(s)— = P(0)
s—0 s—0 S s—0 s—0 S
(4.8)
. Kuw? Kuw?
VA=Y | P(s)= 55— Pls) = — %0
v (8) 52 + QCwnS +(U121 (é) 82 + ZCWHS‘FWE
108 R—%| x, t, X0 = lsim(sys, Ud, Td, XO) X, t, x0 = 1sim(sys, Ud, Td, X0)
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122 R—= X, t, X0 = 1lsim(sys, Ud, Td, XO0) X, t, x0 = 1lsim(sys, Ud, Td, XO0)
123 R—3 y, t, X0 = 1sim(P, u, Td, 0) y, t, x0 = 1sim(P, u, Td, 0)
128 R— ZP(jw) = LP(jw) =
(4.48) 3
129 R—% for i in range(len(T)): for i in range(len(zeta)):
YA+ 4.16
140 R—¥ REE ] RN ]
5.2
152 R—¥ ax.plot(t, y*ref, **pltargs)LS ax.plot(t, y*ref, **pltargs)
a—FY zF & 5D LS zHIBR
. k kps? + k k kps+k kps? + k k
158 <=y | = Shp(g) - DT TIRITM = LA (g) - SRR
5 s s s
kps® + kps + ki kr kps? + kps + ki kps+kr
5.27) = - | = -
( ) * S kps? + kps + kJIT(S) S kps2 + kps + kr T(S)
. 2 In20
175 <=2 | t=ln o ~ t=—— ~
Cwn Cwn
IR 4 Dith
. A -BR'B' A —-BR'BT
179 R—=¥ H = H =
Q —AT —Q —AT
215 R—¥ magllat40 = mag magHlat40 = mag
YA b 6.11
195 =3 ELDREDOE T (1,0) (—1,50)
S SNOLL




216 R—¥ PR DY 60dB % PR DY 60deg %
218 R—= | PM = 60 [deg] PM = 60 deg & LT IcAEbETA Yy 2213 T
218 R—¥ fig, ax = plt.subplots(2,1} | fig, ax = plt.subplots(2,1)
YZ T+ 6.13
232 R—¥ F = -acker(P.A, P.B, Pole) F = -acker(P.A, P.B, regulator_poles)
YA+ 7.2
232 R—¥ plot_set(ax, ’t’, ’y’) plot_set(ax, ’t’, ’y’, ’best’ )
YAF 72
246 XR—¥ kts <t < (k+1)ts kts <t<(k+1)ts
7 (7.25)
257 R—3 e~ % coswt DT 77 A%
S s+ a
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